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SEEH

1. YV—Xa—F

#include <stdio. h>
#include <stdlib.h>
#include <math.h>
#include <time.h>

#define SECOND 10000//#&Y) iR L [A1%k

#tdefine TIMES 1000//E5% 5

#define POWER 1000//#zR /Ny T 1) —
#define MAX 900/// — K%k

#define SQU 100//#it x f& &5

#define DIS_0 20//BRFFEIEHE

#define DIS_1 15//1REF. 2./ — FEH=E 75-50
#tdefine DIS_2 10//1REFE 1:/\y T 1) —H  b0%RED
BIESEHE//IREFE2:/ —FEHE50-25

#tdefine DIS_3 5//1REF%2:/ — FEAHE 25-0
#tdefine TTL 20//Time To Live

[¥I8T A —5 DERTER/
struct Global {

int ttl0;

int ttlt1;

int ttl2;

}Global;

/*/ — FDREME. Ny TU—E, —DRID/—F%
®RE. EEFE/ —Fx/

struct Node{

int num;

int x;

int y;

int power_0;

int before_O[MAX];

int flag_0;

int send_0[MAX];

int power_1;

int before_1[MAX];
int flag_1;

int send_1[MAX];

int power_2;

int before_2[MAX];
int flag_2;

int send_2[MAX];
}node [MAX] ;

/U5 R T D BE B+ /
struct distance{
double d;
}dis[MAX] [MAX];

/ERIERE R/

struct list{
int next_node_0[MAX];
int Second_0;

int next_node_1[MAX];
int Second_1;

int next_node_2[MAX];
int Second_2;
Flist[TTL];

/*T—5 WG R*/
struct Data_0{
double Success;
double Energy;
double a_cost;
int i;

}Data_0;

struct Data_1{
double Success:;
double Energy;
double a_cost;
int i;

}Data_1;

struct Data_2{
double Success;
double Energy;
double a_cost;
int i;

}Data_2;

struct Average_0{
double success:
int s_flag;

double hop;

int h_flag;

double node;
double av_cost;
int avc_flag;
}Average_O[TIMES];

struct Average_1{
double success:;
int s_flag;
double hop;

int h_flag;
double node;
double av_cost:
int avc_flag;



}Average_1[TIMES];

struct Average_2{
double success;
int s_flag;

double hop;

int h_flag;

double node;
double av_cost;
int avc_flag;
}Average_2[TIMES];

[xkx ) — K DRLETEFRD VEBikrk/
void Node_loc (int in, int des)
{
int i,j k;
for (i=0; i<MAX; i++) {
node[i].x = rand() % SQU;
node[il.y = rand() % SQU;
node[i]. power_0 = node[i]. power_1 =
node[i]. power_2 = POWER;
for (j=0; j<i; j+) {
if(nodel[i].x == node[j].x && nodeli].y ==
node[jl.y) i—:;
}
]
}

/x5 T OD B il okx /
void broadcast_0(int in, int des, int ttl, int A)
{

int i=0, j=0, k=0, xdis, ydis;

[HRFBE DD TN ILE T/
if(nodelin].flag_0 == 0) {
for (i=0; i <MAX; i++) {

[ Z R E D BEBfE 2 AR IE AR (A filer/

xdis = (node[in].x — node[il.x) * (node[in].x
- nodeli]. x);

ydis = (node[in].y - node[il.y) * (node[in].y
- nodeli].y):

dis[in][i].d = sgrt(xdis + ydis);

/[ Z mE DA R ETRESEERNLE S UTER
1T%k/
if(dis[in][i].d>08&&dis[in][i].d<=DIS_0 &&
node[in]. power_0 > pow(DIS_0,2)) {
if(i == des) {
Data_0. Success++;

/B FEARER A AR/

if(Global.ttl10 >=ttl) Global.ttl0=ttl;
]
node[in].send_O[k] = i

k++;

/¥t EQBEFMTEEL L listITELEDH D/
if(A==0){
list[ttl+1]. next_node_0[Data 0. i] = i;
Data_0. i++;

}

if(A>0){
j=0;
while(1) {
if(j == Data_0. i) {
|ist[ttI+1]. next_node_0O[Data_0.i] =

Data_0. i++;
break;
]
if(list[ttl+1]. next_node_0[j] == i)
break;
j+
]
}
node[i]. before_O[ttl] = in;
}
}

nodelin]. flag 0 = 1;
node[in]. send_0[k] = EOF;
}
}

void broadcast_1(int in, int des, int ttl, int A)
{

int i=0, j=0, k=0;

double DIS=DIS_0;

[HRIFE DD T ILRE T/
if(nodel[in].flag_1 == 0) {
for (i=0; i <MAX; i++) {

[+ Z R DEREAEERREEBERNZ S UTE2E
7%/

if (nodel[in]. power_1 >= POWER/2) DIS=DIS_0;

else DIS=DIS_2;

if(dis[inl[il.d > 0 & dis[inl[i].d <= DIS &&
node[in]. power_1 > pow(DIS, 2)) {

if(i == des) {
Data_1. Success++;

/R IEARRR E AR/
if(Global.ttl1>=ttl) Global. tti1=ttl;
}

node[in].send_1[k] = i;

k++;

/xtt | EQBRMTERGC listITFEELDHDH/
if(A==0){

list[ttl+1]. next_node_1[Data_1.i] = i,

Data_1. i++;
]
if(A>0){

i=0;

while(1) {

if(j == Data_1. 1) {
list[ttI+1]. next_node_1[Data_1.i] =

Data_1. i++;
break;
]
if(list[ttl+1]. next_node_1[j] == i)
break;
j+



}
}
nodeli]. before_1[ttl] = in;
}
}
nodelin]. flag_1 = 1;
node[in]. send_1[k] = EOF;

}
}
void broadcast_2(int in, int des, int ttl, int A)
{

int i=0, j=0, k=0;

double DIS=DIS_0;

[RRIEE NI (F AL ZE o/
if(node[in]. flag_2 == 0) {
for (i=0; i <MAX; i++) {

[+ Z DR R ERREEENG O UT 23X
f7ex/

if(node[in]. power_2 >= POWER*0. 75)
DIS=DIS_0;

else if(node[in].power_2 < POWER*0.75 &&
node[in]. power_2 >= POWER*0.5) DIS=DIS_1;

else if(nodel[in].power_2 < POWER*0.5 &&
node[in]. power_2 >= POWER*0.25) DIS=DIS_2;

else DIS=DIS_3;

if(dis[in][il.d > 0 & dis[in][i].d <= DIS &&
node[in]. power_2 > pow(DIS, 2)) {

if(i == des) {
Data_2. Success++;

IRIERBR T 1/
if(Global. tt12 >=1ttl) Global. ttl2=ttl:
}

node[in].send_2[k] = i

k++;

/¥t EQBATEHLC list [TEEDHB*/
if(A==0){

list[ttl+1]. next_node_2[Data_2.i] = i;

Data_2. i++;
]
if(A>0){

j=0;

while (1) {

if(j == Data_2.i) {
list[ttI+1]. next_node_2[Data_2.i] =

Data_2. i++;
break;
}
if(list[ttl+1]. next_node_2[j] == i)
break;
j++
}
]
node[i]. before_2[ttl] = in;
]
}

node[in]. flag 2 = 1;
nodelin]. send_2[k] = EOF;

}
}

/*T 59T 4 DT/
void flooding_0(int in, int des, int ttl)
{
int i,
Data_0.i = 0;
if(ttl > 1) list[ttl]. Second 0 —= 1;
for (i=0; i<=list[ttl]. Second_0; i++) {
if(ttl > 1) in = list[ttl]. next_node_0[i];
broadcast_0(in, des, ttl, i)
}
list[ttI+1]. Second_0 = Data_0. i;

}
void flooding_1(int in, int des, int ttl)
{

int i;

Data_1.i = 0;

if(ttl > 1) list[ttl].Second_1 —= 1;

for (i=0; i<=list[ttl]. Second_1;i++) {
if(ttl > 1) in = list[ttl]. next_node_1[il;
broadcast_1(in, des, ttl, i);
}
list[ttI+1]. Second_1 = Data_1. i
]

void flooding_2(int in, int des, int ttl)
{
int i;
Data_2.i = 0;
if(ttl > 1) list[ttl]. Second 2 —= 1;
for (i=0;i<=list[ttl]. Second_2;i++) {
if(ttl > 1) in = list[ttl]. next_node_2[il;
broadcast_2(in, des, ttl, i)
]
list[ttI+1]. Second_2 = Data_2.i;
]

/*REREOD/ — FEHEXHE/
void node_cost_0(int des, int ttl, int k)
{
int i=0, j;
int
a=0, b, shortest_route_0=0, sou_route_0[MAX], des_rout
e_0[MAX];
double cost_0=0;

if (Data_0. Success == 0 && Global.ttl0 == TTL)
Global. ttl0 = 0;

/R FER R/
if(Global.ttl0 != 0 || Data_0.Success > 0) {
des_route_0[0] = des;
des_route_0[1] = shortest_route 0 =
node[des]. before_0[Global.tt10];
b=2;
for (a=Global. tt10-1;a>0;a—) {
des_route_0[b] =
node[shortest_route_0]. before_0[a];
shortest_route_0 = des_route_0[b];



b++;

}

j = Global. ttl0;
for (i=0;i<=Global. tt10;i++) {

if(j <0) break;

sou_route_O[i] = des_route_0[j];
//printf (“%d — “, sou_route_0[i]);
—
}

[FRERED/ — FENEFEEX/
for (i=0;i<Global. ttl0; i++) {
cost_0 = pow(DIS_0, 2) ;
Data_0.a_cost += cost_0;
node[sou_route_O[i]]. power_0 =
node [sou_route_0[i]]. power_0 - pow(DIS_0, 2) ;
}
]
}

void node_cost_1(int des, int ttl, int k)
{
int i=0, j;
int
a=0, b, shortest_route_1=0, sou_route_1[MAX], des_rout
e_1[MAX];
double cost_1=0;

if (Data_1. Success == 0 && Global.ttl1 == TTL)
Global. ttl1 = 0;

/*ER AR R FR*/
if(Global.ttl1 =0 || Data_1.Success > 0) {
des_route_1[0] = des;
des_route_1[1] = shortest_route_1 =
node [des]. before_1[Global. ttl1];
b=2;
for (a=Global. ttl1-1;a>0;a—) {
des_route_1[b] =
node [shortest_route_11. before_1[a];
shortest_route_1 = des_route_1[b];
b++;

}

j = Global. ttl1;

for (i=0;i<=Global. ttl1;i++) {
if(j <0) break;
sou_route_1[i] = des_route_1[]j];
//printf (“%d — “, sou_route_1[i]);
j—s

}

/FRERBED/ — FENEZHES
for (i=0;i<Global. ttl1;i++) {
i f (node[sou_route_1[i+1]1]. power_1 >=
POWER=*0. 5) {
node [sou_route_1[i+1]]. power_1 =
node [sou_route_1[i+1]]. power_1 — (DIS_0+DIS_0) ;
cost_1 = pow(DIS_0,2);
lelsef
node[sou_route_1[i+1]]. power_1 =
node [sou_route_1[i+1]]. power_1 - (DIS_2+DIS_2) ;

cost_1 = pow(DIS_2, 2);
}
Data_1.a_cost += cost_1;
}
}
]

void node_cost_2(int des, int ttl, int k)
{
int i=0, j;
int
a=0, b, shortest_route_2=0, sou_route_2[MAX], des_rout
e_2[MAX];
double cost_2=0;

if (Data_2. Success == 0 && Global.tt12 == TTL)
Global. ttl2 = 0;

/IR R TR/
if(Global.ttl2 =0 || Data_2.Success > 0) {
des_route_2[0] = des;
des_route_2[1] = shortest_route_2 =
node [des]. before_2[Global. ttl2];
b=2;
for (a=Global. tt12-1;a>0;a—) {
des_route_2[b] =
node [shortest_route_2]. before_2[a];
shortest_route_2 = des_route_2[b];
b++;

}

j = Global.ttl2;

for (i=0;i<=Global. ttl2;i++) {
if(j <0) break;
sou_route_2[i] = des_route_2[j];
//printf ("% — ”, sou_route_2[il);
i—

]

HERERED/ — FENEZHE
for (i=0;i<Global. ttl2;i++) {

i f (node[sou_route_2[i+1]]. power_2 >=
POWER*0. 75) {

node[sou_route_2[i+1]]. power_2 =
node [sou_route_2[i+1]]. power_2 - (DIS_0+DIS_0) ;
cost_2 = pow(DIS_0, 2);

}else if(nodel[sou_route_2[i+11]. power_2 <
POWER*0. 75 && node[sou_route_2[i+1]]. power_2 >=
POWER=0. 5) {

node [sou_route_2[i+1]]. power_2 =
node [sou_route_2[i+1]]. power_2 - (DIS_1#DIS_1);
cost_2 = pow(DIS_1,2);

}else if(node[sou_route_2[i+1]]. power_2 <
POWER*0. 5 && node[sou_route_2[i+1]]. power_2 >=
POWER*0. 25) {

node[sou_route_2[i+1]]. power_2 =
node [sou_route_2[i+1]]. power_2 - (DIS_2+DIS_2) ;
cost_2 = pow(DIS_2,2);

Jelsef

node [sou_route_2[i+1]]. power_2 =
node [sou_route_2[i+1]1]. power_2 - (DIS_3%DIS_3);
cost_2 = pow(DIS_3,2);

]



Data_2. a_cost += cost_2;
}
}

if(Global.ttl2 1= 0)
/%) — REF#x/
Average_2[k]. node += Data_2.Energy;

Average_2[k]. h_flag++;

} [FHBEN R/

[*T— R B+ Average_2[k].av_cost += Data_2.a_cost;

void Get_data0 (int k) if(Data_2.a_cost != 0) Average_2[k].avc_flag++;
{ }

int i,

/x5 J — R#ix/ int main(void)
for (i=0; i<MAX; i++) { {
if(node[i]. power_0 >= DIS_0*DIS_0)
Data_0. Energy++;

} it ((co="fopen(“Conventional. txt”, “w+")) ==NULL)

{
/¥R ThER*/
if (Data_0. Success >= 1) Average_0[k]. success++;
/xRy THx/ }
Average_0[k]. hop += Global. ttl0;
if(Global.ttl0 = 0) Average O[k].h_flag++;

FILE *co, *pr1, *pr2;

printf (“file open error!!¥n”);
exit(1);

if ((pr1 =fopen(“Proposal-1.txt", “w+”)) == NULL)

/*/ — RETFH*/ {
Average_0[k]. node += Data_0.Energy; printf (“file open error!!¥n”);
/*HBEBHEX/ exit(1);
Average_0[k]. av_cost += Data_0.a_cost; }
if(Data_0.a_cost !=0) Average_O[k].avc_flag++;
} if ((pr2 = fopen("Proposal-2. txt”, “w+”)) == NULL)
{
void Get_datal (int k) printf (“file open error!!¥n”);
{ exit(1);
int i; }
/¥5E Y J — R/ fclose (co) ;

for (i=0; i<MAX; i++) {
if(nodeli]. power_1 >= DIS_2+DIS_2)
Data_1. Energy++;

] if ((co="fopen(“Conventional.txt”,

/*ERINFEE T/

if Data_1. Success >= 1) Average_1[k]. success++;
/xRy THx/ }
Average_1[k]. hop += Global.ttl1;
if(Global.ttl1 1= 0) Average_1[k].h_flag++;

fclose (pr1);
fclose (pr2) ;

“a+”)) == NULL)
printf (“file open error!!¥n”);

exit(1);

if ((por1 = fopen("Proposal-1.txt”, “a+")) == NULL)

/x/) — REFH*/ {
Average_1[k]. node += Data_1.Energy; printf (“file open error!!¥n”);
/*HBEBEHEX exit(1);
Average_1[k]. av_cost += Data_1.a_cost; }
if(Data_1.a_cost !=0) Average_1[k].avc_flag++;
} if ((pr2 = fopen("Proposal-2. txt”, “a+”)) == NULL)
{
void Get_data2 (int k) printf (“file open error!!¥n”);
{ exit(1);
int i; }

/*¥5%Y) J — FEx/
for (i=0; i<MAX; i++) {
if(nodeli]. power_2 >= DIS_3+DIS_3)
Data_2. Energy++;
]

int i, j,k, I,S_node, D_node, ttl;
srand ((unsigned int)time (NULL)) ;

for (i=0; i<TIMES; i++) {

Vo2 ES- el Average_O[i]. success = 0;
if (Data_2. Success >= 1) Average_2[k]. success++; Average_0[i].s_flag = 0;
/xRy THx/ Average O[i].hop = 0;

Average_2[k].hop += Global.ttl2; Average_O[i].h_flag = 0;



Average_0[i].node = 0; node[i]. before_0[j] = EOF;
Average_0[i].av_cost = 0; node[i]. before_1[j] = EOF;
Average_0[i].avc_flag = 0; node[i]. before_2[j] = EOF;

}
Average_1[i]. success = 0; }
Average_1[i].s_flag = 0;
Average_1[i].hop = 0; [HRRRE(ETT « FBIE S — R DRTEHrk/
Average_1[i].h_flag = 0; do{
Average_1[i].node = 0; S_node = rand() % MAX;
Average_1[i].av_cost = 0; D_node = rand() % MAX;
Average_1[i].avc_flag = 0; }while(S_node == D_node) ;
Average_2[i]. success = 0; /xHxf8 U IR Lwr/
Average_2[i].s_flag = 0; for (ttl=1;ttI<=TTL; ttl++) {
Average_2[i]. hop = 0; flooding_0(S_node, D_node, ttl) ;
Average_2[i].h_flag = 0; flooding_1(S_node, D_node, ttl) ;
Average_2[i].node = 0; flooding_2 (S_node, D_node, ttl) ;
Average_2[i].av_cost = 0; }
Average_2[i].avc_flag = 0; node_cost_0(D_node, ttl, k) ;

}

node_cost_1(D_node, ttl, k) ;
node_cost_2 (D_node, ttl, k) ;

for (1=0; I<SECOND; I++) {
printf (“%d¥n”, 1) ; Get_data0 (k) ;
Get_datal (k) ;
[xkx ) — ED S U5 LEEE R/ Get_data2 (k) ;
Node_loc (S_node, D_node) ; }
}

for (k=0;k<TIMES; k++) {

[rrx N EREAokr/
ttl=1;
S_node=EQF ;
D_node=EQF ;

Data_0. Success = 0;
Data_0. Energy = 0;
Data_0.a_cost = 0;
Global. ttl0 = TTL;

Data_1. Success = 0;
Data_1.Energy = 0;
Data_1.a_cost = 0;
Global. ttl1 = TTL;

Data_2. Success = 0;
Data_2. Energy = 0;
Data_2.a_cost = 0;
Global. ttl2 = TTL;

for (i=0; i<MAX; i++) {
node[i]l.num = i,
node[i]. flag_0 = 0;
list[i].Second_0 = 0;

node[i]. flag_1 = 0;
list[i]. Second_1 = 0;

node[i].flag_2 = 0;
list[i]. Second_2 = 0;
]

for (i=0; i<MAX; i++) {
for (j=0; j<MAX; j++) {

for (k=0;k<TIMES; k++) {
if (k==0) {

fprintf (co, “#Conventional”) ;

fprintf (co, “¥n#No
Cost¥n”);

Success Hop Node

fprintf (pr1, “#Proposal 17);

fprintf (pr1, “¥niNo.
Cost¥n”) ;

Success Hop Node

fprintf (pr2, “#Proposal 27);

fprintf (pr2, “¥n#No.
Cost¥n”) ;
]

Success Hop Node

fprintf(co, “%-2d “, k+1);

fprintf(co, “%-7. 1

“ (Average_0[k]. success/SECOND) *100) ;

if (Average_0[k].hop != 0 &&

Average_0[k].h_flag != 0)
fprintf (co, “%-7. 1f

” Average_O[k]. hop/Average_0[k]. h_flag);
else fprintf(co, “%-7.1f “,0.0);

fprintf (co, “%-7. 0f

“ Average_0[k]. node/SECOND) ;

if (Average_0[k].av_cost != 0 &&
Average_0[k]. avc_flag != 0)

fprintf (co, “%-f¥n”, Average_0[k]. av_cost/Average_O[

kl.avc_flag);

else fprintf(co, "%T¥n",0.0);

fprintf(prl, “%-2d “ k+1);

fprintf (pr1, "%-7. 1



“. (Average_1[k]. success/SECOND) *100) ;

if(Average_1[k].hop != 0 &&
Average_1[k]. h_flag != 0)
fprintf (pr1, “%-7. 1
“ Average_1[k]. hop/Average_1[k]l. h_flag):
else fprintf(prt, “%-7.1f “,0.0);

fprintf (pr1, “%-7.0f
“ Average_1[k]. node/SECOND) ;

if(Average_1[k].av_cost != 0 &&
Average_1[k]. avc_flag != 0)

fprintf (pr1, “%f¥n", Average_1[k]. av_cost/Average_1
[k].avc_flag);
else fprintf(pr1, “%f¥n",0.0);

fprintf(pr2, “%-2d “ k+1);
fprintf (pr2, "%-7. 1
. (Average_2[k]. success/SECOND) *100) ;

if(Average_2[k].hop != 0 &&
Average_2[k].h_flag 1= 0)
fprintf (pr2, “%-7.1f
” Average_2[k]. hop/Average_2[k]. h_flag);
else fprintf(pr2, “%-7.1f “ 0.0);

fprintf (pr2, “%-7. 0f
“, Average_2[k]. node/SECOND) ;

if(Average_2[k].av_cost != 0 &&
Average_2[k].avc_flag 1= 0)

fprintf (pr2, “%-f¥n”, Average_2[k]. av_cost/Average_2
[k]. avc_flag) ;
else fprintf(pr2, “%f¥n",0.0);

]

fclose (co) ;

fclose(prl);

fclose(pr2) ;

return 0;



